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1. Xpx{H|

A EIFIA ET/0 2 A1 /2000/2t ©@101.6 x L2000 x H300 x 2t ea 150,000 =74 & 2021 05& 270p
AEIFIA E /0 & A1/3000/2t @101.6 x L3000 x H300 x 2t ea 176,000 |27Hd & 2021 05& 270p

A EIFLA E /0 21 A1 /2000/4t @101.6 x L2000 x H300 x 4t ea 160,000 =714 & 2021 05€ 270p

A EIFIA E /0 & A1/3000/4t @101.6 x L3000 x H300 x 4t ea 194,000 274 & 2021 058 270p
AEIFIA ETH/QFHA/2000/2t ©@101.6 x L2000 x H120 x 2t ea 150,000 |E7Hd & 2021 05€ 270p
AEIFEA ETH/QFHA/3000/2t @101.6 x L3000 x H120 x 2t ea 176,000 274 & 2021 05& 270p
AEIFIA ETH/QFHA/2000/4t @101.6 x L2000 x H120 x 4t ea 160,000 =74 & 2021 05& 270p
AEIFEA ETH/QFHA/3000/4t @101.6 x L3000 x H120 x 4t ea 194,000 274 & 2021 05& 270p
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1. XpxjH|
AEIF}A ETH/00 2] Al /2000/2t @101.6 x L2000 x H300 x 2t 1 150,000 150,000 150,000 [E£7p8E 202113 05€ 270p

[& A1 150,000 - 150,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7

[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219

[& A1 3,841 - 3,841

=ZAHH[A| 153,841 76,823 230,665
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1. XpxjH|
AEIF}A ETH/00 21 Al/3000/2t @101.6 x L3000 x H300 x 2t 1 176,000 176,000 176,000 [E£7p8E 202113 05€ 270p

[& A1 176,000 - 176,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7

[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219

[& A1 3,841 - 3,841

=ZAHH[A| 179,841 76,823 256,665
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1. XpxjH|
AEIFLA ETH/0 2] Al /2000/4t @101.6 x L2000 x H300 x 4t 1 160,000 160,000 160,000 [E£7p8E 202113 05€ 270p

[& A1 160,000 - 160,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7

[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219

[& A1 3,841 - 3,841

=ZAHH[A| 163,841 76,823 240,665
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1. XpxfH|
AEIFIA ETH/04 21 Al /3000/4t @101.6 x L3000 x H300 x 4t 1 194,000 194,000 194,000 [E£7p8E 202113 05€ 270p

[& A1 194,000 - 194,000
2. ZAHH|
Edols I 03076 179,203 55,123 55,123 |CHstzAME 3] 202119 AlHE| A|S et}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7

[2 A1 - 76,823 76,823
3 .7|A1EH]|
STER puFalelgel 5 76,823 3,841 3,841 |ZE XA E 2021 p.219

[2 A1 3,841 - 3,841

=3 AH|A| 197,841 76,823 274,665
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1. XpxjH|
AEIFEA ETH/QFHA/2000/2t @101.6 x L2000 x H120 x 2t 1 150,000 150,000 150,000 |E27pE 2021 058 270p
[& A1 150,000 - 150,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7
[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219
[& A1 3,841 - 3,841
=ZAHH[A| 153,841 76,823 230,665
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1. XpxjH|
AEIFEA ETH/QFHA/3000/2t @101.6 x L3000 x H120 x 2t 1 176,000 176,000 176,000 [E£7p8E 202113 05€ 270p
[& A1 176,000 - 176,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7
[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219
[& A1 3,841 - 3,841
=ZAHH[A| 179,841 76,823 256,665
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1. XpxjH|
AEIFEA ETH/QFHA/2000/4t @101.6 x L2000 x H120 x 4t 1 160,000 160,000 160,000 [E£7p8E 202113 05€ 270p
[& A1 160,000 - 160,000
2. ZAH|
Sdos I 0.3076 179,203 55,123 55,123 [cHtAMes] 2021 AgEy| AlZ =T}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7
[& A1 - 76,823 76,823
3 .71AHEH]|
STER Q1 AH| 9| 5 76,823 3,841 3,841 |EEEAME 20214 p.219
[& A1 3,841 - 3,841
=ZAHH[A| 163,841 76,823 240,665
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1. XpxfH|
AEIFIA ETH/YFHA/3000/4t @101.6 x L3000 x H120 x 4t 1 194,000 194,000 194,000 [E£7p8E 202113 05€ 270p
[& A1 194,000 - 194,000
2. ZAHH|
Edols I 03076 179,203 55,123 55,123 |CHstzAME 3] 202119 AlHE| A|S et}
HEoR ol 0.1538 141,096 21,701 21,701 |cHetzAM S| 20211 Atl7| A B Q7
[2 A1 - 76,823 76,823
3 .7|A1EH]|
STER puFalelgel 5 76,823 3,841 3,841 |ZE XA E 2021 p.219
[2 A1 3,841 - 3,841
=3 AH|A| 197,841 76,823 274,665




